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Beispiel:	       20,57 t = 20570 kg

	t
	kg
	g
	mg

	
	2
	0
	5
	7
	0
	
	
	
	
	
	



Rechne um, schreibe die Zwischenergebnisse darunter auf die Linien und danach das Endergebnis.
1)  5,4 kg + 29600 g + 13,1 kg = 
5400 g + 29600 g + 13100 g = 48100 g

2)  73000 g + 84,2 kg + 40500 g = 
73 kg + 84,2 kg + 40,5 kg = 197,7 kg

3)  6,86 t + 935 kg + 7,57 t = 
6860 kg + 935 kg + 7570 kg  = 15365 kg

4)  1360 kg + 2,99 t + 958 kg = 
1,360 t + 2,99 t + 0,958 t = 5,308 t

5)  45,8 kg + 97900 g + 19,6 kg = 
45800 g + 97900 g + 19600 g = 163300 g

6)  2,62 t + 95400 kg + 0,775 t = 
2620 kg + 95400 kg + 775 kg = 98795 kg
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